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Achievement  exemplar  for  91379  –  2016   Grade  Score:  A4  

Question  
part  

Annotation  

(a)  
The  candidate  has  explained  only  why  a  change  management  strategy  
is  necessary  in  a  given  context.  The  impact  (“how”)  statement  was  very  

weak  and  repeated  the  same  statement  (differentiating  their  service).  

(b)  

One  positive  and  negative  impact  for  inclusive  strategy  have  only  been  
explained.  This  answer  did  not  reach  Merit,  because  the  candidate  did  

not  provide  “how”  statements  for  both  positive  and  negative  impacts  of  

the  inclusive  strategy.  

(c)   The  positive  impact  of  the  patent  only  has  been  explained.  

(d)  

The  candidate  has  provided  only  a  partial  explanation  of  the  TQM  
system  in  a  given  context.  The  candidate  has  provided  a  weak  

description  of  TQM  being  a  cultural  change  involving  everyone,  without  
mentioning  customers  being  involved  in  the  process  (stated).  There  was  

weak  evidence  of  how  TQM  would  affect  the  staff  by  enabling  them  to  

become  more  involved,  and  of  how  TQM  would  impact  on  
competitiveness  via  good  reputation  (explained).  There  is  insufficient  

detail  for  Merit.  
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